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Discuss the Carnatic Wars, explain their significance with reference to /1777175
the expansion of the British Empire in India. (250 words, 15 marks) :,I 1:

this margin

lcﬁhﬁﬁﬁﬂﬁ*{ﬁﬂ‘%@e

oafan & [earaer sRaBiET 3T
qRoter T (e g (PRE F
[Aorr &F

b oifes g)
() = s g (1746248 )

BROT —ATfegar ST IRIfesR T2
796 % pRAfEY ¥ e Ony & mar
L’%W%W#WMl |
| I vRT AT S B S (ys)
A “7W#gfwaz?wmr3qﬁwrgﬁzrg_
oggA & | |

"Q'i) ST optes e (N49-59):-

CERDT Ywee AR &ies ¥ Fed
FERTRIBR ST e

"o ¥ amc & o5 A dRsh g o




w1 GeeT W ¢ apr) s

| L, Tg i ) dﬁ% -‘( l‘?ss) [‘(Tﬁnchdutes
' must not
v 4w write on )
(D Jdl atres & (1758-63 )z e

Ly i
% 03 TeRT BRI F AT g
1160 — skl ST Wb Ao |
C@‘T@” Rrfya |
puita-Rer B e (1763)- gRGRmY
SRT HRT & & T @ A camivs
- Beadr TS I SRR QAT 3w (

%W%g@ﬁr#w&? |
. ]

() § Bz ¥ e WE o [T B
o EYEY smEfas A ofr exe gt |
SRty ¥ BT FREr & Wfse aw
SERd |
Q})%HHW%T‘ J

;(ﬁ'l) WW&T @VWﬂm T |
FT AT TR AR U AT oy
AT g ST W Al




I IRE (T i

| [Candidates

L ip o . imust not

v FREREY 6T s gam empr
s ‘iIil'Il’Il,r."i
|

I & I |

(v)m%vmr&mﬁaﬁrwa%:r
’aﬁrgﬁmﬁ?a? i)

¢ o gy & v ey
e ¥ ¥ e, Ry wen e
T aRe A AEET Qe g & fae-
R fo |

?W“Tfﬂ'l'ﬂﬂ-l A
‘fmmfw

|
t



Q2. | Tt I oTSTE 35 O o I o e i aaf | (150 wreg/10  [FIEEIE

|'=‘7T"’TfﬂTﬂ‘q71?T
| S-F:F) fear =fem

Candidates
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‘ Tipu Sultan was considered by the British as the most important enemy
 of that time. Explain vour reason. (150 words, 10 marks)

fg goarr & T deor S s
opy ifes egel (BReT eI & fov
o de w owfhe e A (AfeeT
s Y T gAY Sote ST &) o) )

O Y\ P o e & TTer (e
T L o e & camifs oty
B b (Fmjed
\ S R
YT 3T & (3eTer

[Tt &
Tt
|Candidates
must not
write on
this margin




A Ft T DT ISR — s
A= S WW
b . i -l
A Qupry S 5 T
defer <idet o s o
RIRIT @ & g & IR
RYAC G%ﬁ'ﬂ‘!‘ Wﬁ’ WW{’ |
WEOT O (T ST A aT
BT BT IR

ﬁgW&quﬁwm.
st & RHr TR TT o vetr
et e Bk 3 e e 48
MW@WW«J@?W 4

Ty




Q4. | T T T 3 TTer T e 2t ? SR WTASIT & o 2313 ap efteaprorsy | i &

= EIfom o e
T fore Uere e o ? (150 ¥18g, 10 375) \Pﬂmﬁm

| Which of the states did Wellesley make subsidiary alliance ? What were -¢7didates

must not
| its provisions ? How was it beneficial from the British point of view ? write on

(150 words, 10 marks) if.'TiS margin

SR ORI HRE A I (e
& &7 ¥ st o€ M, Gk dafer
HREr T S grEm F Rr dHer v
pefe g ST, B @R Sfer ST Gnard)

Fereny (Ridwar | 198) 1|

—opar & vaw 3 W & @ - anr

ﬂ%?@‘? %- BT Ay ST
— Bk a4 Yoem ¥ gy gy

10



_‘,. X

@@?Ml ’H?Tﬁm‘fqm
- Rty & ople & (oA feRlt ,aa,ﬁm:r\ i
CST 31elt %‘HT ] D’[ﬁ %ﬁ'l | hfﬂ'arg'n

— R oEn & rER A (e
W@'ﬁ'uﬁ@%@ﬁm@,‘gm
1R o] |

| meﬁﬁ‘%wm

BRw & T g Aerc, T A
.‘E@rC‘WRWrMavV AT g7
e s [T, s & GiRer Sy
& e ¥ dles B

W S B (R seR T e
quat ¥ sfiey & &N N STYeIr
- algeRr =

11



Qs SIS g ey forsrar it smavarkar T g8 2 mmmEn AT (150 9T, 10 afm) [P A

|*—4 Iy o e
e wnfem
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